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QUESTION 1

When creating a new Declaration type in Global Trade Management (GTM), which three processes may need to be
configured depending on the requirements of the local customs authority? (Choose three.)

A. Set up a License Code that defines whether a license is incremented or decremented for the Trade Transaction.
B. Set up a data configuration that defines the data required to be copied from the Transaction onto the Declaration.
C. Define a constraint set with grouping criteria that identifies how to combine Trade Transactions into a Declaration.

D. Create aggregation criteria that consolidate Transaction Lines, based on parameters such as tariff code or country of
origin, into fewer lines on the final Declaration.

Correct Answer: ABD

QUESTION 2

Identify the incorrect option pertaining to TiHi.

A. This configuration captures the number of layers of boxes/cartons that can be stacked on the pallet.
B. This is configured in Item Setup.

C. This configuration captures the number of boxes/cartons stored on a layer.

D. This configuration will impact mixed pallet functionality.

Correct Answer: A

QUESTION 3
When defining a Region, there is a parameter called "Representative Location".
When is it appropriate to set a value for "Representative Location"?

A. Do it if you are using Cooperative Routing and you want the location to be considered in the cooperative routing
aggregation.

B. Use this parameter to define a range of values that will be included in the region you are defining, such as a range of
zip codes.

C. Do it when you want to create a template Region that you can use to quickly create other regions in the future.
D. Representative Location is the location of the person assigned to the LOGISTICS Role for the region.

Correct Answer: C

QUESTION 4
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Assume that you have made changes to the Default Parameter Set. Which statement is true?

A. Regardless of your user role, you won\\'t be able to save the changes within the Default Parameter Set without
renaming it first.

B. In order to reset all the changed settings back to their original settings, select "Actions”, then "Utilities", and then "Set
Defaults" from the drop-down menu.

C. In order to reset all the changed settings back to their original settings, you should review them on the screen and be
able to tell which ones have been changed, and what the default settings were.

D. In order to reset all the changed settings back to their original settings, you should delete the Parameter Set and
recreate it using the Default as your template.

Correct Answer: A

QUESTION 5

When assigning rules to service providers to support Freight Payment, which two statements are true? (Choose two.)
A. One can assign a match rule profile and an approval rule profile to a service provider.

B. Each service provider can have only one match rule profile assigned.

C. The Autopay check box should be selected for the rules to apply.

D. The rules cannot be changed once assigned to a service provider.

Correct Answer: BC
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